No. 1 ZF  400m A FL—YL— FE
=308% 4:12.79
11 #H ( ) FT—ikE =8 =T
2. ( )
3. ( )
4, REBHmEA ( )
5. ( )
6. ( )
7. ( )
8. ( )
No. 2 BF 400m *FL—YL— FiF
=E0Ek 3:45.19
148 F—ikE b=} =T
l‘ E )
3. mL (& B% -thE EA-#HIBR 5% 152 58) =& _1:07.70 3 4:21.79
4. #&ER (LE D -ERERE OEX-HEF O F-AHR GhME) =i 1:05.67 2 4:17.30
g. LA (E?:.': BEx-A0 SK-REF (& -&%E ﬂl$§ = 1:02.74 1T 4:11.17
7. ( )
8. ( )
248 FT—ikE b=} =]
1. @R (I Bt -I%F E=-BHF Mb-HAHF 0 OBR) &K _ 1:03.16 6 4:09.44
2. 1l (L R-BTH AF-ES ER-XR R) = 1:02.06 5 4:08.91
3. HEBXHK (BH BX-ER I2-Fx XE-KH EAN) & _ 1:02.82 2 4:02.55
4. HERSN KT (B E# -8 a2 -MiE BZE-t@A FE) S 1:00.43 1 3:59.81
5. &®E (GkFH EN W BF A Kth-EERY BME) = 1:04.42 4 4:07.50
6. FaYI5 = #BX-BEHF KH-FIH =|M-SL KE) = 1:04.30 3 4:07.15
1. WEBME GEI EE-SBO0KE-BTEHEX-/MMY GR) S 1:02.79 8 4:09.90
8. RE (B H#-HE\E Rt -5 HE-BEEX #E) 2 1:04.36 7 4:09.74
No. 3 Z&F 400m BHfAER B A LR No. 4 BF 400m BfAERF B A LR
SECEk 4:18.60 235048 3:55. 61
148 EIE  BERE 148 EIE  BERE
1. ( ) 1. ( )
2. ( ) 2. ( )
3. & iE  (FHEE )y &1 3 4:57.78 3. BAE—BR  (FREMEE ) &2 2 4:43.76
4. A+EFiv (FEHEE Y &2 1 4:42.93 4. FEF FEFE  (GE#MEE ) &1 1 4:30.64
5. R® X (WG ) &1 2 4:49.86 5. #EF H£th  (FEEEE ) &1 3 4:55.58
6. ( ) 6. BH =4 (R ) &1 4 5:21.46
1. ( ) 1. ( )
8. ( ) 8. ( )
248 EIE  BERE 24%8 EIE  BERE
1. ( ) 1. BRH @& (GLdefE ) =1 8 4:32.51
2. I/RK %¥i (REX# Y &3 4 4:21.74 2. BRIl R (REXH ) =1 5 4:20.12
. RE D TLEF (HE#sKdE ) =1 3 4:23.27 3. A RK (E#HNKE ) &1 2 4:07.47
4. LA BXx (E#HsaXdE ) 32 1 4115.01K=H 4. %% E&tHE  (&m ) E1 4 411472
5. dtH B (E#HsKE ) &2 2 4:21.73 5. @A &KX (AYHE ) &1 1 4:04.91
6. BXKF (&M Y&E1 5 4:27.84 6. e FEE (EH#sKE ) =2 3 4:13.80
1. R¥ e (REXE Y E1 6 4:34.73 1. FEEETE (B2 ) &1 1 4:22.46
8. ( ) 8. XM A (AR ) &2 6 4:22.22




No. 4 BF 400n HEW B A LRk
< E08% 3:55. 61

348 EIE SRS

1218 (RE y =2 8 4:15 59

2. JllF 8hR (FRERTEK ) E3 4 4:00.26

3. 5K B (EWHE ) =2 3 3:59. 21

4 FH BB GRE ) &3 1 3:58.33

5. HFE R (REHXE 0 ) B3 2 3:58.56

6. FiE BR (EWE ) =2 6 4:04 50

7 At EH  (REMIAE ) &1 5 4:01.47

8. FH &; (;&m Y&l 1 4:14.37

No. 5 ZF  400m BAAAFL— CEWN Y
=508% 4:45.01

11%3 ( ) =& B

2. BEH FE (EHXH ) &2 5 5:38.83

3 RKE BmE  (REANAT ) &2 3 4:59.13

4 )l BFF (REBSVAE ) =2 1 4:51.35

5. 4@ 2 (FRERS KB ) E2 2 4:56.34

6. A 2T  (BHS y =1 4 51411

] EEBEEE (REmE ) =2 6 6:04.38

8. ( )

No. 6 BF  400m AAAFL— CEWN Y
£506% 4:26.38

148 EIE B

1 ( )

2. ( )

3B mE%  (EEWEE ) &1 3 5:06.55

4 BH R— (RSX% 0 ) &1 1 4:41.82

g. ANHE 1&E GRE ) =1 2 4:55.40

. ( )

7 ( )

8. ( )

ﬁﬁ ( | EIE s

2. % B (EESAT ) &1 6 4:50.15

3. R EXE (G&m Y&E2 5 4:37.80

4 BAY KE O O(RHSXE 0 ) &1 1 4:21.17

5. A B (REXE 0 ) @2 2 4:27.58

6. MMHE BEZE  (EESAA ) =1 3 4:36.14

;@# xH (BB Y =1 4 4:37 46

. ( )

No. 7 ZF 100m B/ %iE
£ 55.32

148 EIE SRS

1. ( )

2. ( )

3 ke EHE O(EEDSSE ) =1 3 1:.34.87

4 NI D (45 y =1 1 1:17.56

g. EH EF EE?‘%‘I Y& 2 1:24.15

. )

7 ( )

8. ( )

ﬁﬁ ( ) EIE  EERS
2. #E B (EHEBFER ) &1 5 1:17.94
3. FZIL uEXK (FEEXH )y &1 3 1:08.33
4 FkFErE (AR Yy =1 2 1:07.96
5. W% Rk (%5 ) =2 1 1:06.68
6. &KX BE (EHEBZFER )1 4 1:12.74
1. Kz EBEE (& ) =2 6 1:20.01
8. ( )
34 EIE R
1. BH HE (LU ) &2 6 1:03.57
2.2 B (‘B ) =2 1 1:00.66
3./  HE (REEMNE Y &1 3 1:02.94
4. 5 ¥h  (i6EE Yy =1 1 1:03.76
5. KH #& (L3 ) =2 2 1:02.93
6. #itE WX (AR ) =1 4 1:03.07
1. #E Zx% (U ) =2 5 1:03.53
8. 2@ RE (ASE ) =2 8 1:08.28
448 & B =3
1. AA #&x (%K% ) =2 6 1:01.65
2. ¥t EH (GIEE )y =1 7 1:02.20
3. EmAMDEN, (RESNATE ) =2 3 58.96
4 #E BEF (FE#HNAKAE ) S1 1 58.17
5. BXRF (&m ) &1 2 58.85
6. ik BHF (E#HHKAE ) =2 5 1:01.35
1. REBEXT= (H#X% ) =2 4 1:01.21
8. gl HF (ILMmfE ) =2 8 1:03.77
N. 8 HBF 100m HHERE FiE
=iofx 5041
148 &I =3
1. ( )
2. ( )
3. BRIl Mt (BEBIE Y &1 3 1:19.49
4. RE f#fEFE (U )y =1 1 1:06.83
2. ARG ELRL EEE Y &2 2 1:11.74
: )
1. ( )
8. ( )
248 &I =3
1. #F BN (R&HKXHE ) =1 4 1:07.23
2. BH M 2 (EHZKAMIE ) &1 6 1:09.11
3. & Uk (BE )y =1 1 1:03.23
4. kH HX (AR ) & K&
5. @ B (LW ) =2 3 1:04.03
6. 5K B (&8X ) &2 2 1:03.74
;. WO RE (REER y=2 5 1:07.65
: ( )




N. 8 BEF 100m HERK i
2545 50.41
3 i EIE RS
1. %8 BB  (BE Yy =1 4 1:01.69
2. " Bth  (GREEE Yy &1 2 1:00.19
3. liE KiE (RE ) & =iE
4. KHE B\ (k&S Y&E1 1 59.46
5.0 R GERBI% ) =2 3 1:00.75
6. % B (It )y =2 6 1:01.85
7. —#1 BE (BN ) &2 5 1:01.76
8. RO [E#  (EW Yy =1 71 1:03.74
448 EIE  BERS
1. KA =% (£5H Y&E2 6 59.32
2. 182 B (W ) &1 4 58.59
3.JIE A (GIdntE Y &1 1 59.42
4. 0O iR (FEEE ) &2 1 55.26
5. ILF BHR  (RE y&E2 3 57.65
6. A HZ (LR )&E1 8  59.78
7. #E BEA  (EWL Y&E1 5  58.85
8. LR BIE (ARG Y=l 2 57.33
54 EIE  ERS
1. ILE BE  CGamE y&E2 1 58.62
2. Wl Yl (GREIBXH ) &1 4 55.39
3. B3Il KEE  (FERS ) &1 3  55.30
4Ky TERA CGREREE ) &2 2 55.04
5. BEAK BZ (&t )&E3 1 54.93
6. ERARAN (RIBXHK Y&2 5  55.59
7. 3@ &E (I ) & ZiE
8. BH MK (IdfE ) =1 6 56.84
6 # EIE  B5RE
1. 383 #Bhr  (FEXH y&1 1 54.86
2. ey B (G&E ) &2 6 54.37
. O (BE Yy =3 1 52.83
4. /xR —4E (FEHMNKAE ) =2 2 53.18
5. @l EH (REHKE ) =1 3 53.52
6. fEk Yl (RHZAKMIE )&=2 5  53.95
7. it AF (& y&=1 4 53.01
8. fifE HHE (FEMNKFE )B=2 8  55.75
No. 9 ZF 100m k= 2
£595% 1:02.39
148 EIE  B5RE
1. EAREE (FHLF Yy =1 5 1:41.19
2. hFBRRE  (REWEE ) &1 4 1:33.68
3. HIE $B (AR Yy =1 2 1:20.11
4 HE BR  GERIBXH Yy =2 1 1:20.00
5. hE HB (RE&KF ) &1 3 1:26.96
6. 5% KEE (AR ) &2 =iE
;.;i M4 F EI%I%B#% Y =1 6 1:51.02
: )

2% &l B
1. INBFEFE (LW YyE=1 7 1:13.06
2. EAERF (FEEXE )52 3 1:07.84
3. BiRxEmie (U3 Yy &2 4 1:08.05
4. 57 EHMW (CGEREBNAKRE ) =1 1 1:03.83
5. Il BF (E#sKEE ) 52 2 1:07.39
6. A H&Em (BN y=1 5 1:08.19
1. fife FB (EESKE ) =2 6 1:08.68
8. BlEHHLHA (AR )y =2 8 1:13.50
No. 10 BF 100m &Fxk=F FiE
£i08%x  56. 21
148 &EIE B
1. ( )
2. ( )
3. MAE—B (AR y&1 3 1:21.73
4 FH EE (¥% Yy =1 1 1:16.33
g. ATE K Ei%[‘%l% Yy &1 2 1:20.67
. )
1. ( )
8. ( )
21%3 ( ) EIE iS]
2. &y —# (GBE Yy&E1 5 1:13.36
3. ATt R—fE (FEEMEF ) &2 2 1:11.58
4 kB N (EEXEK Y2 1 1:08.18
5. 8F #HI— (EHEXH ) & EiE
6. Fx G (GREEF ) &2 3 1:11.62
;. af MEA E?‘%‘I%Bl'ﬁﬁ“— Yy =1 4 1:12.29
. )
348 &I R
1. %8 2 (U Yy&E1 7 1:09.69
2. KB =t (&% ) &2 1 1:04.40
. H XKE (U )y =1 6 1:08.62
4. K&t E O O(E#sRAE ) &2 2 1:05.24
5. B E (AR )y &1 3 1:05.38
6. £[R i (RS Yy =1 4 1:05.90
1. &% #@m  (EW Yy =1 5 1:07.59
8. BBy FK (RE ) =1 EiE
448 & B R
1. 18 EH# (U Yy =2 5 1:02.77
2. =85 B (iIdfE Y &2 1 1:03.45
3. EH B (E#SKE ) &1 3 58. 68
4. wH ®#BEF (FH#HSNKAE ) 53 1 57. 80
5. =ik & (FEEE ) &2 2 58. 50
6. 5H HBK (E#XH ) =1 4 1:01.48
1.4t B (BEE )y =1 6 1:03.22
8. #i Kk &K (IInfE Yy&E1 8 1:04.75




No. 12 BF 100m N2T754 i
REcHx  54.26

11%3 ( ) &g B
2. t% Hz (AR ) B2 5 1:15.84
3. #H =t (RH%ZKME ) &1 3 1:11.28
4 BH R%E  (LdfE )y &1 2 1:10.68
5. MR B (AR ) &1 1 1:10.40
6. ;BKRAKER (ILAnfE ) &l ZiE

1. B X (FRW Y1 4 1:12.63
8. ( )
24 EIR B
1. 9l #x (FRW ) &2 5 1:05.27
2. @Il K— (GE#E@EE ) = 2

3. #FFHEER (UM Yy &1 1 1:02.59
4. Wit FHih o (BB ) &2 6 1:05.82
5. EH #5A (U ) &2 4 1:05.14
6. EH L— (L3 Y &1 2 1:04.59
1. #th EH (GRE )y &1 3 1:04.80
8. XA~ A (HEREXH Y&1 7 1:06.30
34 EIR B
1. B& ft (BAERE )y&1 5 1:01.96
2. =% 8K (AEE ) =2 6 1:02.27
3. G HE (B2 ) &1 4 1:01.75
4. F1HR =|BME (FEEE ) &1 1 58. 26
5. 8 &  (#&H )y &1 2 1:00.22
6. BTFEEXR (GEHEE ) &2 3 1:00.76
1.5tk WE (REBXHK ) &1 1 1:02.53
8. FMIE—B (REBHKAE ) FI 2
418 EIE B
1. Bhft Kt (G&mE ) &1 ] 59. 41
2. F/K Kt (E#E;HAKAE ) S 2 58. 05
3. 9% B (AW ) =2 4 958. 62
4. Fx KE (EHI;XH ) &2 3 58. 06
5 KH —2 (R#aKdE ) &3 5 58. 85
6. XH ENH (BE ) &l 1 96. 53
1. WA K (&m ) =2 8 1:00.66
8. LI EE (REBMEFE ) &1 6 59. 36

No. 13 Z&F 100m k& FiE

SECE% 1:09.93

148 EIE B
1. dk# #F (E#HRF ) &l 1 1:52.41
2. A =/ (REEF ) =1 5 1:42.69
. &R LBE (AXR ) &2 3 1:37.31
4. I SB (@R Y&E1 1 1:28.14
b HkFELE (AR Y &1 2 1:29.22
6. NEEF (REEZF ) =2 4 1:41.17
E7;. BT XT E‘%‘i%" ) &1 6 1:48.40

: )

24 EIE  BERE
1. IRA XE (GIdfE Y&E1 T 1:22.82
2. LM B (FEEWFE Y&E1 6 1:21.70
3. HEMENE (FE#4MKRAE ) H1 3 1:16.19
4 7B B GEHNXE ) 52 1 1:11.32
5. A RE (FE#sSKE ) H1 2 1:13.55
6. F#E =E (L Yy &E2 4 1:18.36
1. #E X (S Yy &2 5 1:20.09
8. EAEHDY (HHEXHK ) &1 8 1:25.28
No. 14 EBF 100m FkFE &
=iEoek 1:02.47
148 EIE  BERE
1.EX KIZ (£% Yy &1 6 1:28.60
2. lLx EEA (FEHEE Y&E1 7 1:28.74
3. L& fik (&= Yy &1 3 1:19.38
4. |LUHE 2 (AE )52 2 1:18.08
5. B THER (FH#mE Y& 1 1:17.93
6. Xk EMH (B8R Y&E1 4 1:26.70
;. 1kik EBE Ei‘é[‘%l% Y&E1 5 1:27.66
: )

24 EIE  BERE
My B (AR &1 6 1:17.56
2. B0 X&F (HEW ) &2 EiE
3. M Fz (EEEE Y&E1 3 1:11.84
4. Al KIE  (#&F Y E1 2 1:11.18
5. &% kit (&RE Y&E1 4 1:11.89
6. BEIL Tt (EEXH Y&E1 1 1:10.54
1. BH EA (FEWW Y&E1T 5 1:16.56
8. Zl xiEE (AHEE Yy &1 7 1:18.51
3#8 EIE  FERE
1. &R AR (&S Y &2 8 1:12.81
2. BTE Y% (W3 ) &2 5 1:10.68
3. k¥ & (AR ) &2 3 1:08.87
4. \K EiE  (GRENXH &1 1 1:07.39
5. L R (A Y &2 2 1:08.74
6. hE ®ith (RE ) &2 4 1:09.78
1. 8BA =N (LU Yy &2 7 1:11.70
8. B EE (RE Y&E1 6 1:11.07
448 EIE  FERE
1.5 &z (F#MKAE ) =1 5 1:06.56
2. 80 Bk (GLdnfE ) =2 4 1:06.35
3. Bk RIZ (FEWE ) &3 3 1:05.08
4. IMUE—BER  (EERS KT YE3 1 1:01.36KE&H
5. kA W4 (GEE ) =3 6 1:06.84
6. Mt =T (AHEE ) &2 2 1:04.60
1. %% A& (E#HH KA ) =2 7 1:07.40
8. IR I (EHXH ) &2 8 1:07.74




No. 15 % F 50m BHrRF Fi&E
SECEk 25.65

148 & B R Al
1. ( )

2. ( )

3. RE HfFE (RHEEER ) 51 2 40. 83
4. i (RS )y &1 1 36.78
g% LT Eﬁﬂt? ;%13 45. 95
1. ( )

8. ( )
248 &IE R Al
1. #E Zf (FE#EAERE ) 51 3 35. 26
2. thtE ti#E  (LdnfE ) &1 ] 37.22
3. K¥ HZE  (#H ) &2 4 36. 64
4. 1B wT (% ) =2 2 34.19
5. XK BRE (FRH#EE=FER ) 51 1 33.22
6. Bt Uh (AR ) &2 6 37.17
1. WEE HETE (R ) &1 5 37.15
8. ( )
34 &IE B?fﬁsﬁ
.28 X¥ AR ) &1 8 38.3
2. & HRE (\EE ) =2 6 33. 78
3. 1y RE  (EFH ) &2 2 29. 99
4. HeEEMF (W3 ) &1 1 29.92
5. vtk BR (H#bkF ) &1 .5 32.07
6. ILA =% (L ) =1 3 31.06
1. 3B RE (AHEB ) =2 4 31.65
8. Aft =& (FE#LF =1 37.15
418 &8 =T
1. 58 BE (EEE ) &1 .5 29.29
2. f8lu HF  (GLdnfE ) &2 8 29. 61
3. =K EF (R#AXE ) &3 2 26. 91
45X Bf (GFEHNXKE ) S3 1 26. 08
5. E BE&F (EFE#HsNXE ) s 3 217. 31
6. REEXT= (REREXH ) &2 4 28.94
1.5# %7 (iR ) &1 6 29.33
8. EH ImIm& (L3 ) &1 ] 29.49
No. 16 EBBF 50m BHrRF Fi&E

REcHk 23.32

148 &I R il
1. BTIAED (%% =) e Y
2. BRIl Mt (GBEBIXE ) =1 6 34.25
&¢m Em (REMEF ) &1 2 31.99
5&% #m (IB®R ) &1 3 32.95
6. XH #HE (X% ) &1 1 31.45
1.4t &KX Eﬁ%@% g 22 4 33.00
8.

2

4

5

9°>‘.®F“:'>9°!\3.—‘

@s@m%wwew

ms@m%ww~

@N@@#WN‘

P~Nooswp =)

#A

£
Al E'l'
&%
RiE

iis
RES
zH

&

w0
Nz
i ]

¥ H
/NI
BH
XH

#
RN
Eﬁ
1&F
L=

W=z
/ﬁﬁ\

#H
. BER
Wi

L

FnH
Hhft
LER
1Ty

&

AL
A
oA
X
#»H
Bt
HH
xR

P&
A

8
Bhst
Bl
%0 .|-|_1,
Eﬁﬁ-’i
K

iZE4
A

N
Kit

= A
sol

B 40

(BBHIE
(BBHIE
(SLAREE
(BR

(BR

(#%H

(AR
(R&KHKE

(L

(AR
(FREXHK
(#%H

(L

(B3
(RBKHR
(R

(L3
(FREXH
(R
(RS KT
(LanfE
(BE

(LK
(R#ER M F

(BE
(REX K
(3LanfE
(FR#H K
Cipt
(/&7

(#=H

(B2

(ER M F
(/&7

(&4t
(RBKHR
(ALanEEFIA
(/&7
(&S KT
(L3

— N N N N S

— N N N e

=N

=1
=
=2
=
=2
=
=2

=2

=
=2
=
=1
=1
=2

=
=12

=2
=
=1
=1
=1
=
=1

=2

ST

C}'>\IQ'IC¢.)—‘I\D-bcoliillk

ST

=1
27.64

26. 60

26. 66

Co—-hl\bcﬁn\]].lk

26. 47

26. 62

i

29.01

[SalE N

27. 61

S

oooa\n\:wm—-.h@}_*

S

=3
25.53

25.20

24. 61

23.93

24. 11

24.79

24.99

OﬁQ‘I-l>C;O—*I\.‘J\l(}iﬁ@ll_llt

25.14




No. 17 ZF 200m fEAAKL—  FFE
£55% 2:15.97
148 EE i3] 248 EE =]
1.2 {HE (BEE Y &2 6 3:05.70 1. B ##X (EW YE1 6 2:49.24
2. AR RRE (REREEFE Yy =1 7 3:15.60 2.t =t (R&ZKME ) &1 4 2:42.09
. BH FE (EEAXH ) &2 4 2:37.93 3. &M MEA (FEMEE ) &1 3 2:35.68
4. B FE  (FEEB ) &2 2 2:30.48 4. ZEOKER  (GREREE Y &2 1 2:26.04
5. IRkMA Xk3E (IWEE YyE=1 3 2:35.12 5. fiifm BEF  (RE Y =1 2 2:29.47
6. =" & (FEWHE Y &2 1 2:29.26 6. M0 K& (EW ) &2 ik
1. %A B (GFEEaXH ) =2 5 2:59.96 1. ®ZF EHF (BE ) &2 5 2:46.32
8. it Ysn (AR ) =2 8 3:34.63 8. ( )
248 EE i3] 3#f &EE =]
1. %A HE (LW Y&E2 1 2:33.36 1. EN Am (G&FE ) &1 1 2:25.178
2. g (F#Es K@ ) B2 5 2:27.85 2. @A &KX (FEHE ) &1 4 2:11.4]
3. BH EA (GEHEHSNKRAE ) &1 3 2:24.65 3. KA & (GBE ) &1 3 2:17.45
4. KA BfE (e Yy &2 2 2:19.93 4 EH K (FEEE Y&E1 1 2:12.18
5. 57 EHM  (R#HHMKE ) =1 1 2:18.54 5. I $EF (& ) &2 2 2:14.56
6. i(EEI #ZE (1w ) =2 6 2:30.70 6. £ A  (CGREAXHE ) =2 5 2:22.18
1. 0B REE  (FEHEE Yy =1 4 2:25.93 7. 1A MME  (EERXH ) &2 EiE
8. REHHA (AR )y =2 8 2:33.78 8. #& B (R#ENKE ) &1 6 2:23.20
No. 18 BF 200m {AA*KL— ¥:2
£55% 2:03.07
148 EE i3] 448 EE =]
1. ( ) 1. K#% #BA (FAEER ) =2 8 2:17.14
2. ( ) 2. jRA ®WAE (GE&Em Yy =3 2 2:09.30
3. @ fmAER (Ll Y &1 3 3:09.25 3. 3L BAE (REBW ¥ ) &1 3 2:09.41
4 R B (U Y =1 2 2:53.83 4. /rAX 5B (EEXH Y &2 1 2:09.02
5. RE #@1F (U )y E1 1 2:46.87 5. #k BT (AEE ) &2 5 2:10.88
6. ( ) 6. its MBEZE (GER#ESMKRAE ) &1 4 2:09.46
1. ( ) 1. B i (G&E ) &2 6 2:14.52
8. ( ) 8. ZHE—B (E#;NKA ) =1 7 2:15.94
No. 19 &F 400m 1) L— FiE
£55% 3:50. 61
11 8 ( ) —ikE EE =]
2. ( )
3. ( )
4. REFEEA ( )
5. ( )
6. ( )
1. ( )
8. ( )
No. 20 EBF 400m 1JL— F5&
£55% 3:27.26
148 ( : —ikE EE =]
1.
2. ( . . )
3. EW (HnA &% -fElE R4 -RO Béﬁ S E 98) &1 59. 50 3 4:05.67
4. $EER (LR iIb - EF T -AHR hE-EE OEKXK) &K 56. 03 1 3:47.07
5. iénfE (A |E-NEH RN -=F EBEF-A0 BK) 8% 56. 39 2 3:49.75
6. mEKHE E . . . g =28 EiE
7.
8. ( )




No. 20 BEF 400m 1 L— S5
=308% 3:27.26
248 F—ikE b= ] =T
1. &2 (lek TE BB B HEB-ILT BE) 3K 55. 69 6 3:45.92
2. 1l ($eEPHESR - #TIL R-IES ER-XR B) B 55. 88 5 3:44.09
3. &A™ (3k®r BRI -kFH EN WA #HK-K FHE) 8K 95. 713 3 3:40.43
4. RESY KT (fifE #E-HP RKX-WHBE BZE-LFE #Hh) 2K 55. 68 4 3:40.78
5. REBX K (A KK KE-Fx X8 -ZEHAFA) 8K 53. 34 2 3:38.09
6. TG (0@ =L -=Ek W-aEll KE-A20 #i) a8 54. 81 1 3:37.99
1. WERM ¥ (BTEEX - /MY G -SEDKER - I B1E) SR 97.56 7 3:47.00
8. AER (AH#  R-des B4 BN Mt - KK BA) B3R 57.07 8 3:41.73
No. 21 %F 800m HHF B A LR
=i0fk 8:52.76
11 #H ( ) EIE  BFAE 248 EIE B
_ 1. ( )
2. RE X (WG ) &1 5 9:55.57 2. mF R— (EHXH ) &1 4 16:28. 51
. BADES, (E#EHNKAE ) &2 2 9:02.05 .2 W  (BRE ) &2 6 16:49.23
4. KASTLEF (F#MNHKAE ) =1 1 8:58.88 4. KB BEA (FHXHK ) &2 1 15:51.44
5. Bk ME (FE#4KE ) 52 3 9:05.16 5.\ AR (FEHXH ) &3 _2 16:00. 96
6. IhA ¥E (FHXHK ) &3 4 9:08.29 6. MIE ZBE (&M ) &1 5 16:37.33
1. ( ) 1. B RK (E&ESXKE ) &1 3 16:14.99
8. ( ) 8. ( )
No. 22 EBF 1500m BfAER B A LR
£=506%15:30. 54
148 EIE  BFAE
1. ( )
2. ( )
3. fREEEREl (RE Y &1 3 17:22.84
4. FFZF Kt (FEEE ) &1 1 16:06.73
5. ZHE—Bl (FE#sKE ) 51 2 16:16.43
6. ( )
7. ( )
8. ( )
No. 23 ZHF 400m H*KL—UL— R
=i08% 4:12.79
E—ikE EHE =]
1. m&#&F GERFBEE -t fIE - EF-FE EF) &tk 1:40.61 5 6:10.71
2. EnfE (fBl #EF-hH XE-HLE EH-S ¥h) g 1:11.74 4 4:46.04
3. w5 ( . . . ) Bk £33
4. RESV KT (ZK EF-BH FHHE -8Bk KE-ZK BH) S _1:03.07 1 412. 712 KE%
5. 1k (BifrEmfd - HLE ZE-KH BF-BHH #SE) =S 1:05.93 2 4:31.99
6. AP K (EHERF -BRKX ¥E-X%H% BRE -REELX=) =& _ 1:06.07 3 4:40.24
1. R EE HE -FKELE -BEHLA -BRIE SB) B 1:24.72 K&
8. ) i i )
No. 24 BF 400m H* KL—UYL— R
=508% 3:45.19
E—ikE EE i
1. &2 (B H-HE\E Rt -5 HE LXK #FH) 3 _ 1:04.51 K&
2. U (FF1L R-ETH AR -ES EFR -BFHES) S 59. 86 5 4:03.98
3. TG (=Fk -oAG K-S B3 -FB BR) &K 58.17 4 3:54.10
4. RESV KT (foA@ EBE - /DUE—B -FHK KB -FE —1E) 3R 56. 19 K=#% 1 3:45.28
5. RERXZ (BH BX-BEHt KE-Fx XE-KH BEA) & _ 1:00.17 3 3:54.02
6. &® (AR BE -RA BAE -kHF OEN TR HE) B 58. 66 2 3:48.60
7. AR (et B -3%kEF EF BN Mt - R BA) B 1:03.48 6 4:07.20
8. RARM¥ GETI S -550KEF-BTEEX /M GF) =& 1:01.99 K&




No. 25 %=F 200m HEHER B A LR

£%595% 1:59.24
148 EIE RS 448 EIE RS
1. ( ) 1. %8 g (REXH ) &1 6 1:56.33
2. ( ) 2. e B (&m Yy =2 1 1:50.37
3. &I gk (REXH ) &1 3 2:29.92 3. /A —iE (m#HAKTE ) =2 3 1:55.23
4. HE =X (L YE2 1 2:14.36 4. Fix wmR (FAEBG ) &2 5 1:55.54
5. it BEXR (AR ) &1 2 2:16.91 5. Ft tHKE (&M ) =3 4 1:55.33
6. ( ) 6. BFt E& (EREHAKRAE ) H1 2 1:54.14
7. ( ) 7.8l E# (EHESKE ) &1 7 1:57.25
8. ( ) 8. BiI B (&E ) =2 8 2:01.28

No. 27 ZF 200m &)= B A LR
£594% 2:18.92
248 EIE RS 148 EIE RS
1. B FE (FEBE ) =2 5 2:13.95 1. ( )
2. e &# (GEEImMATE ) =2 T 2:18.68 2. INSFNEFE (U ) =1 5 2:36.93
. mE EBHEF (GRESMKAE ) &2 4 2:10.92 3. BiREmie (g ) &2 3 2:21.09
4. KX BE (IGE )y =2 1 1:59.38 4 =K EF (FE#HHXE )33 1 2113 18K&<H
5. ILA WM& (E#sKE ) =2 2 2:02.50 5. IBHERF (R#XH ) &2 2 2:19.51
6. X HE (R#XH Yy &1 3 2:10.37 6. fite FE (R#HAE )32 4 2:2].71
1. BEHETY  (AEE ) &2 6 2:14.83 7. ( )
8. ( ) 8. ( )
No. 26 EBF 200m B B A LR No. 28 EF 200m k= B A LR

£235% 1:50. 05 £534% 2:01.08
148 EIE RS 148 EIE RS
1. ( ) 1. ( )
2. ( ) 2. ( )
3. A e (REBXEH ) =22 EiE 3. &I —#Ht (GRE Y &1 3 2:37.24
4. FNE FHM  (FII% ) = ZiE 4. % EEER (L ) &1 1 2:29.60
5. IUE Bz (R#EEE ) =2 ZiE 5. EFt BE (R#HEE ) =l 2 2:29.92
6. ( ) 6. B8H #H— (EREXH ) =2 FE
7. ( ) 1. ( )
8. ( ) 8. ( )
24H EIE RS 24H EIE RS
1. %1\ BE (GBE YyE1 5 2:14.64 1. B8 FK (RE ) =1 FE
2. 8H =& (FEW YyE1 1 2:26.10 2. &9 #% (EW ) =1 6 2:24.66
3. ¥ 5 (&Y )y =1 1 2:02.38 3. B E (\AER ) =1 4 2:23.16
4. ¥EXT Ht  (EERME ) =1 6 2:16.06 4. K#F B (E#sREm ) m2 2 2:17.30
5. Bt —ER (GRENEE Y&E2 4 2:14.30 5. k& Bt (AR ) &1 1 2:16.71
6. H XKE (U3 Yy =1 3 2:07.48 6. Bl mEE (FEMEE ) &1 5 2:24 43
1.AA B (AER Y &2 2 2:07.12 7. 88K &K (IIdngE Y &1 3 2:21.90
8. ( ) 8. Al RK—BE (GREME*E ) =2 1 2:31.18
348 EIE RS 348 EIE RS
1. &l X (FEEE Y &1 4 1:59.49 1. = #Xx (‘B ) =2 1 2:17.85
2. ZEEARAN (EHXH ) &2 2 1:58.54 2. %L F® (U ) =2 6 2:15.28
3. A0 ik (WS ) &2 1 1:58.25 3. &M KE  (EEXH ) =3 3 2:05.74
4. %% EBIE  (BRE ) =1 3 1:58.93 4. XK EE  (GBE ) =2 5 2:12.06
5. IR HEF (U Yy =2 5 1:59.66 5. =ik & (FEE ) &2 1 2:04.07
6. EX TE (B2 Yy =2 6 2:01.77 6. EH B (&N KE ) &1 2 2:05.66
1. eFrEESR (LU Yy =1 8 2:06.06 1. BH ¥BK (FE&EX&H ) &1 4 2:10.73
8. #&MA T (IMEE ) &2 1 2:05.84 8. LLEF g (BE ) &2 8 2:18.26




No. 29 KF 20m "B TS 5 A LA No 32 BF 200m FkE 5 A LA
=EoEk 2:15.09 =508% 2:15.39
148 ( ) EE i3] 148 ( ) EE =]
1. 1.
2. EHL (FEXH ) E1 4 2:33.53 2. &R = (LU ) &1 5 3:03.63
3. =H & (GF#ESAKRAE ) 51 3 2:24.16 3. &N kBB (AEE ) &1 2 2:45.98
4. Bk ME (FE#HNKAE )52 2 2:17.63 4. B kit (GEE ) &1 1 2:38.85
5. 2K Bt (E&EsMKE ) &3 1 2:17.42 5. Bt fE (U3 ) &2 3 2:50.87
6. %k HF (FWE ) &2 EiE 6. BTHERL (EHEE ) &1 4 2:53.67
1. ( ) 1. #F BN (R&KHE ) &1 EiE
8. ( ) 8. ( )
No. 30 EF 200m /N2 T754 B A LR
=Eifk 2:01.22
148 EE i3] 248 EE =]
1. ( ) 1,80 E (E#4KAE ) &1 5 2:36.19
2. ( ) 2. EE (BE Y&E1 71 2:39.19
3. EE B (L ) &2 3 3:06.99 3. hE #th  (BRE ) &2 2 2:33.65
4 FH E— (L Yy &1 1 2:25.39 4. )l REE (4 ) &1 3 2:34.06
5. F Bth (FHEE )y &E1 2 2:34.89 5. lu0 AR (GEREBI#E ) &2 1 2:30.77
6. ( ) 6. EBLAE (EAMEE ) @2 4 2:34.63
7. ( ) 7. ATHE & (LA Y&E2 6 2:37.24
8. ( ) 8. M Fz (EEMEE ) &1 8 2:43.39
248 EE i3] 3#f EE =]
1. ( ) 1.3%%% &% AR ) @2 6 2:30.26
2. @B\l K— (E#EE ) &1 £33 2. B[R WK (8L ) =2 8 2:37.89
3. BTFEEXR (EEEE Y&E2 1 2:13.60 3. FkFZF K (FYE ) &1 3 2:18.50
4. S HE (GRE Yy &E1 3 2:18.56 4 IMUE—BF  (GE#ENKE ) &3 1 2:16.17
5. itk WE (FEH#XH Y E1 2 2:16.34 5. Ky 1BE (FH#;XH ) &1 2 2:17.67
6. FR EIE (HAHE YE1 4 2:23.79 6. R 2 (EHXH ) @2 4 2:25.99
7. EH A (LU Yy &2 5 2:27.53 1. %% A (E&HNKAE ) 52 5 2:28.45
8. ( ) 8. J\K &g (AR ) E1 1 2:31.86
No. 33 %% 100m BEHEF R B
=E08% 55.32
3#H EE i3] EE iG]
1.8/K K&t (R#HKAE ) =1 5 2:05.93 1. A@A #$x (k% ) &2 8 1:02.40
2. kF#F EN (Em )y &E1 4 2:05.82 2. REEE+T= (FE#HXHK Yy &2 5 1:01.16
.Mk B (B ) &3 3 2:03.93 . BAMEDL, (F#sAE ) &2 3 1:00.29
4. A BE (EHsXdE ) 33 1 1:59.30K=H 4 #E EF GESAXRE ) 51 2 58. 20
5. B BR{C (FEWHE ) &3 2 1:59.53KE£% 5. EBXF (&m ) &1 1 57.75
6. KA BEA (FE#HXH Y &2 6 2:07.14 6. =) g (AHEB ) =2 4 1:00.82
1. Fxt KE (FEXH ) &2 1 2:07.65 1. Mk BF (EEHSKAE ) 52 6 1:01.33
8. ENl Afl (&m Y E1 8 2:12.06 8. #fE EEME (IdnfE &1 71 1:01.97
No. 31 ZF 200m FpkE B A LR No. 34 BF 100m BEHF i
SECHk 2:36.88 =ic#k  50.41
148 EE i3] EE iG]
1. ( ) 1. 8HF BN (FRESXE ) &1 1l 54.53
2. #E =X (#EH ) =2 4 2:49.48 2. &Kk g (RBEXME ) 52 2 52.02
3. ME XRE (FE#EHNKAE ) =1 3 2:37.86 3. Al E#H (EESNKAE ) &1 6 93. 86
4 #H EB (FEHHAKXKE ) &1 2 234 10K=#H 4 %k 1 (G&m ) &3 3 52.75
5. FA A (GE#HSNKE ) &2 1 2:34 A0KEH 5. FK —#8 (F#NKAE ) 52 4 53.18
6. LM B (REWFE ) &1 5 2:53.29 6. b¥ 2AF (@ ) &1 5 53.32
1. EREAHP (GFEEXH ) &1 6 3:00.27 1. BB B (BE ) @2 1 91.99
8. ( ) 8. &&K - (&it ) &3 8 55.94




No. 35 Z%¥F 100m ik R B No. 40 BF 100m 5k FE BB
£584% 1:02.39 RERR 1:02.47
EIE  BRE EIE AR
1. INETNEE (L3 Y&l 8 1:12.83 1. \K &i& (AR ) =1 8 1:06.62
2. X Hm&Hm (BH Y&l 4 1:07.33 2. &5 g2z (FES KA ) =1 6 1:06.49
3. MEEKRF (F#XH ) &2 3 1:06.55 3. B BRI (FEWE ) &3 3 1:03.24
4. 57 EHW GE#ESAKRTE ) &1 1 1:04.07 4. INLUE—BF  (EHESAKRAE ) 833 1 1:02. 15K=H
5. (Il BRF (FE#SAARFE ) &2 5 1:07.46 5. #ik T (ASE ) =2 2 1:03.17
6. BiRERL (L3 Y &2 2 1:06.22 6. 20 &K  (LdnfE ) &2 1 1:06.57
1. e FE (EHSKAE ) &2 6 1:08.35 7. IRAK ®E (G&E ) &3 4 1:03.54
8. alEHLTA (AE yZ2 7 1:12.21 8. & HRE (F#S\KAE ) =2 5 1:06.44
No. 36 BEF 100m k= R No. 41 XF 50m BERF R
=Eff%  56.21 =itf%x  25.65
EIE  ERE EIE  BER
.= B (iIMmfE ) &2 6 1:02.10 1. E%H HmE (L ) &1 8 29. 58
2. By EF (U )y &2 5 1:00.83 2. 5@ KE  (FEHEG ) &1 5 29. 27
3. LA FEE (FE#MAAKE ) &1 3 59. 32 3. B BEA (E#HsKkE ) &1 2 26. 81
4. B BE (F#E#sxE ) 53 1 56. 37 4. AR BfE (EEsXE ) &3 1 26. 11
5. Zfk W (AEEG ) E2 2 57.28 5 ZK EF (E#sKdE ) &3 3 27.30
6. BH KK (F#XH ) &1 4 59. 76 6. REEL= (REBXH ) &2 4 27.83
7. et Bt (AE )y &1 1 1:02.97 1. 5% ¥y (IL6hfE )&l 29.54
8. KH =% (&% ) B EiE 8. 8l EHF (ILdnfE ) &2 6 29. 45
No. 37 %F 100m N\R2 2754 R B No. 42 B ¥ 50m BHF R B
=308% 1:01.04 =itfx  23.32
EIE  BRE EIE  BERE
1. W\ ZFH (W )y &1 1 1:14.54 1. X #$HK (GB8FE ) &2 1 25. 36
2. EHF EH  (EHXH Y &1 5 1:11.22 2 #@B —2 (FE#skdE ) &3 5 25.30
3. /% H# (E#KE ) &2 4 1:07.72 3. %E KB (IHEFAE ) &2 3 24.52
4. FE FEE (EEMKRAE ) &2 1 1:02.88 4. Ex  H (GEHEKME ) 32 1 23.72
5. =8 X (FE#HsKE ) &1 2 1:03.56 b. &K &= (&dt ) B3 2 24.45
6. %8 =X (WU ) &2 3 1:06.44 6. & 4AF (8@ ) &l 4 24. 67
7. £H b3 (Ll Y&l 6 1:12.92 1. %8 ) (L3 ) &1 6 25.35
8. SHEARE (FH#MMmE Yy &2 8 1:11.71 8. i gl (GREXXH ) =1 8 25. 41
No. 38 BF 100m N\422754 R B No. 43 ZF 200m BEANARFL— R B
=Eofk  54.26 =508% 2:15.97
EE i3] EE i
1T B4 (FE#HWmE )y &1 8 1:00.69 1. B FHE  (FEHEHB ) &2 8 2:33.46
2. 5% B} (FEHE ) E2 5 58. 43 2. % mfg (E#RAARAE ) &2 6 2:28.69
3. Fxr KE (REXHK ) &2 2 56. 35 3. BHF xR (F#SKAE ) &1 3 2:24.42
4. xH# ENH  (BE Yy E1 1 56. 02 4. 57 EHEW (EESAKE ) &1 2 2:18.88
5. FHKk Kt (FE#EHAKAE ) &1 4 57.94 5. KA B (IdnfE ) B2 1 2:11.53K&<H
6. f0E |/ (FEEE ) &1 6 58.44 6. XA R#IL (FEWHE ) &1 4 2:26.28
1. KB —2 (GE#sKE ) &3 3 56. 93 1. = g (AEHEB ) &2 1 2:30.92
8. iFt K (BE ) a1 1 59. 68 8. KA #Z&E  (L¥ ) @2 5 2:28.21
No. 39 Z%F 100m Pk E R B No. 4 BF 200m EAAFL— R B
£504% 1:09.93 £508% 2:03.07
EE i3] EE =]
1. 3RA kE (GIMWEE Y &1 1 1:22.60 1. B3 @ (GRE ) B2 1 2:14.02
2. #HE FBB (S ) &2 5 1:18.95 2. ik HiT (ASE ) &2 4 2:10.93
3. EAEMERE (F#4AE ) &1 3 1:16.08 3. 3T EBE  (GEENME ) &1 3 2:09.08
4. FA FHE (EEHsXRE ) 2 1 1:10.95 4. /AKX 5 (EEHXH ) &2 1 2:07.19
5. A XFE (F#sKE ) &1 2 1:13.10 5. IRA W& (BE ) @3 5 2:11.53
6. #E =E (LI ) &2 4 1:16.42 6. MiE MBEZE (FE#MSKRAE ) &1 2 2:08.95
7. LA B (REWFE Y &1 6 1:22.29 1.8 K (FEWHE ) =1 6 2:11.98
8. EAESBHY (FEHEBXH Y &1 8 1:24.23 8. I HTF (&E ) &2 8 2:15.76




No. 45 ZF 400m Y L— R
=506% 3:50.61

L E—ikE JI& =]
1. m#&F (hE EBS - -BAf =/ -EARKREE - & =) St 1:16.36 7 5:31.55
2. 1l (BIRERKL B =X-AH #F-BHHF #HE) =& _ 1:03.66 4 4:10.77
3. ILAnfE (KX B -+t Ef-fBLL EF -5 ¥h) B 56. 35 2 4:01.64
A HESKE (KB BE-EAOLH -l KF-ILE BK) S 5874 1 3:53.94
5. TG (=& E-BHbh FE-FH KE-BRE X&) =& _ 1:02.02 5 4:12.32
6. AP K (X% BB REEX= -EHERF-REL ¥iE) 2 _1:01.14 3 4:02.80
7. AR Eﬁiﬁd‘éﬁi/u CEKELE -HIE SEB-HE EXR) B 1:05.36 6 4:23.18
8. ) ) ) )

No. 46 SF  400m ! L— R
=E0fk 3:27.26

N E—ikE b= ] =]
1. WEMEF (M TER-BTEEX -SBL0KE I BE4) 8K 54. 69 7 3:43.46
2. 1L (%R 2 - EEFRES - FL ROESY ER) 5K 56. 99 6 3:43.22
3. &m (TR 1B -2 BE -Bf AF -IRK H#{4E) 3 51.77 1 3:26.50 K&£H
4. TS (5% B3 -FIF BGR =k a0 i) 5 53.37 4 3:33.25
5. AR H (fBHF MM -KEH EA-FHA K#H-RAK &) & 53.95 3 3:31.87
6. ERSY KT (4t E£8 -0 BEF-FX —E-Al BEH) 8K 53.47 2 3:27.98
1. RE (X TE -EE | -Bix HE-ILT HE) 8K 56. 15 5 3:42.97
8. #EER (EE -8 F-AHA G -ERE OEKX) 2K 56. 25 8 3:47.57




